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7H = =K REUS 7H E=E REUS
A2R B E EEEE
2 H|0|A Z1oi|0|E(Base plate) 1100.700 5 A3 F(Grub screw) 22540.0401
2 H|0|A Z1oi|0|E(Base plate) 1100.800 10 A3 F(Grub screw) 22540.0421
1 H|0]A E2i|0|E(Base plate) 1100.500 10 A3 F7(Grub screw) 22540.0422
5 AT 0| M(Spacer) 1107.400 10 A3 F(Grub screw) 22540.0423
5 2 0| M(Spacer) 1107.500 6 EE, TH 22690.0001
5 21 0| M(Spacer) 1107.600 3 EE HH 22690.0002
5 2T 0| M(Spacer) 1107.700 4 2E, 0| mof S 22690.0201
20 A1 0| M(Spacer) 1107.800 3 EE TH 22690.0301
5 AT 0| M(Spacer) 1107.900 6 EE TH 22690.0303
10 A1 0| M(Spacer) 1108.000 3 EE TH 22690.0305
5 AT 0| M(Spacer) 1108.200 3 =E, 5% 22690.0401
12 0F2&l(Mounting) £5 1110.100 3 EE, ESE 22690.0403
5 0F2&/(Mounting) £5 1110.200 3 EE, &0l Woi S 22690.0501
3 0F2&/(Mounting) £8 1110.300 6 EE, &0l Wo S 22690.0503
6 0F2E/(Mounting) £2 1111.100 3 2E, &0|Mod S 22690.0505
5 0F2&!(Mounting) E2 1111.200 6 M= detold e, WHE] 22730.0020
2 0F2&!(Mounting) £5 1111.300 3 M= detol'd e, BHE] 22740.0017
1 &% (Slot) 2T A= 1112.100 6 Mdx detold mE, & Etel 22730.0320
2 237 bt 1113.700 3 M= detold HE, & EFY 22740.0317
1 S3Z Ht 1113.800 30 T-22(Slot)® HE 23010.0142
4 MEZE SE Ht 1114.000 80 T-£Z(Slot)8 LE, & 23020.0140
12 A& (Abutment) 1114.500 10 T-2%(Slot) LE, 0522 23020.0640
2 EP{AE HZ(Thrust angle) 1120.300 5 T-LHES LIA 23040.0602
1 EP{AE HZ(Thrust angle) 1120.400 5 T-LES LIA 23040.0622
4 T-&2X(Slot) ME{R E5 1129.600 10 T-LHEE LA 23040.0623
3 T-2%(Slot) HE 1130.400 10 T-LES LIA 23040.0624
30 T-2dE =8 1131.100 10 T-LHES LAl 23040.0625
20 T2 =58 1131.200 10 T-LHES LAl 23040.0626
5 T-2MT EE 1131.500 10 T-LHE S LIAF 23040.0627
5 T-2YT ES 1131.600 10 HEE ME 23050.0212
3 T-2MT EE 1131.700 40 Ho ot 23060.0012
1 EES 1132.100 10 SZt HE 23070.0012
1 EES 1139.400 15 Ze HE 23080.0012
1 #lx 1139.500 10 A HE 23090.0012
4 57+ Z£20|E(Intermediate plate) 1147.700 3 23z 23150.0015
3 MEZE 2% b} 1147.800 3 EES 23150.0016
10 M=zZE ZgolE 1147.900 6 EVEEEEEE 23180.0213
2 IR MaHE 1148.400 4 e 2c 23 23210.0521
1 V8 EE 1148.500 2 e 2c 23 23210.0522
3 ZXIME MZE ST ot 1149.000 5 HE MZE 23220.0150
3 2 & I{(Abutment) 23280.0114
ZiQof mat 3 A E IH(Abutment) 23280.0214
2 e EfAE T 23310.0051
el 1140.300- ° oy

27 ole E 1143.700 4 Ce EfAE ST 23310.0054
2 Ce EfAE ST 23310.0057
15 =0| =™ A2l 23310.0140
XHE Helg HE Lo 8 =0| =d A2 23310.0141
SZol el 2 #&o| chEuch 4 =0| =H™ A2 23310.0142
oo mat Helg HEg = e 5 =0| =H A2 23310.0160
4 =0| =H™ A2 23310.0161
2 =o| =™ A2l 23310.0162
8 ZXM 2 23310.0350
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